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1 //GradeBook.java
% public class GradeBook
4 private String courseName;
g private int[] grades;
g public GradeBook( String name, int[] gradesArray )
9 courseName = name;
{(1) grades = gradesArray;
{% public void setCourseName( String name )
}451 \ courseName = name;
{g ?ublic String getCourseName()
}g \ return courseName;
%(1) public void displayMessage()
22 System.out.printf( "Welcome to the grade book for\n%s!\n\n",
%i getCourseName() );
%g public void processGrades()
27 OutputGrades )
28 ystem.out. grmtfg "\nClass average is %.2f\n", getAverage() );
1328 //outputBar hart(
gé public double getAverage()
33 int total = 0; // initialize total
34 for (int srade : grades)
35 total += ‘cfrra g
%g \ return ( double ) total / grades.length;
38
28 //public void outputBarChart()
jé public void outputGrades()
43 System.out.println( "The grades are:\n" );
44 for ( int student = 0; student < grades.length; student++ )
45 System.out. prmtf( "Student %2d: %3d\n",
ig \ student + 1, grades| student | );
48 }
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I/ GradeBookTest.java
public class GradeBook Test

public static void main( String[] args )

{
inf] radesAmay = { 87, 68,94, 100,83, 78, 85,91, 76,87 )

GradeBook myGradeBook = new GradeBook(

"CS101 Introduction to Java Programming", gradesArray );
myGradeBook.displayMessage();
12 myGradeBook.processGrades();

[S—
—_— O oo — O W e o o —

- ~ % 4 GradeBook. java, GradeBookTest. java #p % - 3 K GradeBook 2 i =
(Constructor) &Rz ? % 5@ ? (104 )
[#4] :
7~11 7 % GradeBook e+ » % 5 = B $# > - B String> ¥ - B L int 5 3| oL
7] > H %% g2k % GradeBook ¥ 1% i private % #ic( courseName fr grades) thie

= ~ %% GradeBook. java, GradeBookTest. java # % » # R # 7 GradeBookTest {& mﬂi;—l RHRCR
(20 %)
(#4] :
- B4nie~ Main k72 - Bs) > &% gradesArray > ¥ — A2k 2 g ; &2 - Brd
myGradeBook 4= i+ » & » CS101 Introduction to Java Programming 4 gradesArray %
p 4 1% ¢ % i courseName {r'E 7| grades ; #f ¢ displayMessage()fs - ¢ L& !
Welcome to grade book for

(3 #7)

CS101 Introduction to Java Programming!
(3 #7)

(3 #7)

£ k=fe? processGrades() @ ¢ 4% ¥ =* ="' outputGrades() > &7 I} The grades are:
(3% 17)

Z2_1s o i~ 1w B » LB The grades are:
(3% 17)

(3% 17)

Student 1: 87

Student 2: 68

Student 3: 94

Student 4: 100

Student 5: 83

Student 6: 18

Student 7: 85

Student 8: 91
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Student 9: 76
Student 10: 87
R BEGRE 2% @%| processGrades () » £ Efp
Class average is 84.90
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public void outputBarChart()
I

t
int[] frequency=new int[11];

1

]
H ¥ frequency ¥¥cine 24 72 @ > ¥ 2 @R * T Java iR AR E o BACE K 29

= 7 outputBarChart()” & 3x f& ( 7 % processGrades() # & - {7 § = ¥4
outputBarChart()) , & = #4 7 GradeBookTest * B| outputBarChart() g & d1 4™ & % o
(20 &)
Grade distribution:

00-09:

10-19:

20-29:

30-39:

40-49:

50-59:

60-69: | *

70-79: | **

80-89: | ****

90-99: | **

100: | *

(44 ]
public void outputBarChart () {

int[] frequency=new int[11];

for (int i=0;i<grades.length;i++) {
int t=grades[i]/10;
frequency [t] ++;

J

for (int i=0;i<frequency.length;i++) {
if ((i*10)==100) {System.out.print (“100:”);}
else {System.out.printf (“%0d-%0d:”, %10, i*x10+9) ;}
for (int j=0;j<frequency[i];j++) {

System.out.print (“x”);

}
System.out.println();
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PN %ﬁi‘v‘; GradeBook. java, GradeBookTest. java #% % > Fé'/x Lt (recursive) > NEATHEDR
“GradeBook” class p %% 31 7 e getAverage(), 3£ 8B FF & 3 TR

{
h
HeoniZdkgd tdke (204)
[#4]

public double getAverage (int n) {
If(n==1) {return (double) grades[0]/grades.length;}
else return (double) (grades [n-1] +getAverage (n-
1) *grades. length) /grades. length;

}

I e oht VR 4o i integerPower 0 2 2 40T
public static int integerPower(int base, int exponent)
# 7 base = A&k > exponent & dp#c o #¥ v g5 b] 5 integerPower(2,5)=32 - (15 4 )
[#4]
public static int integerPower (int base, int exponent) {
if (exponent==0) return 1;
else if (exponent==1) return base;
else return base*integerPower (base, exponent-1) ;

}
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<IDOCTYPE html>
<html>
<body>
<p> line | </p>
<p id="demo"></p>
<p> line 2 </p>

<script>

var cars = ["BMW", "Volvo", "Saab", "Ford"];
vari=0;

var text="";

while (cars[i]) {
text += cars[i] + "<br>",
i++:
}
document.getElementByld("demo").innerHTML = text;

</script>

</body>
</html>
[#4]

line 1

BMW
Volvo
Saab
Ford

line 2
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